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1. ��-�/ %�$��&�$�%&��� $���'�� �$��$���/  
''����� ��%&�����/ 

��.05 -���&$�&�%���� � -���&$�����  

 

1.1. �5?4EFL ?D<<5=5=<O D45>G5= ?D>7D4<<O 

$45>G4O ?D>7D4<<4 GG55=>= 4<EF<??<=O O6?O5FEO >5O74F5?L=>= G4EFLN 
>5D47>64F5?L=>= ?D>7D4<<O 6 E>>F65FEF6<< E $��% ?> E?5F<4?L=>EF< %��  
21.02.02 �GD5=<5 =5DFO=OE < 747>6OE E>646<=. 

         

1.2. �5EF> GG55=>= 4<EF<??<=O 6 EFDG>FGD5 >5D47>64F5?L=>= 
?D>7D4<<O   

'G55=4O 4<EF<??<=4 « -?5>FD>F5E=<>4 < M?5>FD>=<>4¬ O6?O5FEO 
G4EFLN >5M5?D>D5EE<>=4?L=>7> F<>?4 >5D47>64F5?L=>= ?D>7D4<<O. 

�E>5>5 7=4G5=<5 4<EF<??<=4 <<55F ?D< D>D<<D>64=<< < D476<F<< �� 
01, �� 02, �� 04, �� 05, �� 06, �� 07, 08, �� 09. 
 

1.3. &5?< < ??4=<DG5<O5 D57G?LF4FO >E6>5=<O GG55=>= 4<EF<??<=O: 
'G55=4O 4<EF<??<=4 «-?5>FD>F5E=<>4 < M?5>FD>=<>4 ¬ >55E?5G<645F 

D>D<<D>64=<5 M?5<5=F>6 ?D>D5EE<>=4?L=OE < >5M<E >><?5F5=F<= ?> 6<44< 
45OF5?L=>EF< $��% %��. 

� D57G?LF4F5 >E6>5=<O 4<EF<??<=O >5GG4NM<=EO >E64<645F M?5<5=FO 
>5M<E >><?5F5=F<= (��): 

 �� 01. �O5<D4FL E?>E>5O D5L5=<O 7444G ?D>D5EE<>=4?L=>= 
45OF5?L=>EF< ?D<<5=<F5?L=> > D47?<G=O< >>=F5>EF4<. 

�� 02. �E?>?L7>64FL E>6D5<5==O5 ED54EF64 ?><E>4, 4=4?<74 < 
<=F5D?D5F4F<< <=D>D<4F<<, < <=D>D<4F<>==O5 F5E=>?>7<< 4?O 6O?>?=5=<O 
7444G ?D>D5EE<>=4?L=>= 45OF5?L=>EF<. 

�� 04. -DD5>F<6=> 674<<>45=EF6>64FL < D45>F4FL 6 >>??5>F<65 < 
>><4=45. 

�� 05. �EGM5EF6?OFL GEF=GN < ?<EL<5==GN >><<G=<>4F<N =4 
7>EG44DEF65==>< O7O>5 $>EE<=E>>= $545D4F<< E GG5F>< >E>55==>EF5= 
E>F<4?L=>7> < >G?LFGD=>7> >>=F5>EF4. 

�� 06. �D>O6?OFL 7D4644=E>>-?4FD<>F<G5E>GN ?>7<F<N, 
45<>=EFD<D>64FL >E>7=4==>5 ?>6545=<5 =4 >E=>65 FD44<F<>==OE  D>EE<=E><E 
4GE>6=>-=D46EF65==OE F5==>EF5=, 6 F>< G<E?5 E GG5F>< 74D<>=<74F<< 
<56=4F<>=4?L=OE < <56D5?<7<>7=OE >F=>L5=<=, ?D<<5=OFL EF4=44DFO 
4=F<>>DDG?F<>==>7> ?>6545=<O.  

�� 07. %>45=EF6>64FL E>ED4=5=<N >>DG64NM5= ED54O, 
D5EGDE>E55D565=<N, ?D<<5=OFL 7=4=<O >5 <7<5=5=<< >?<<4F4, ?D<=F<?O 
55D56?<6>7> ?D><76>4EF64, MDD5>F<6=> 45=EF6>64FL 6 GD576OG4==OE 
E<FG4F<OE. 

�� 08. �E?>?L7>64FL ED54EF64 D<7<G5E>>= >G?LFGDO 4?O E>ED4=5=<O < 
G>D5??5=<O 74>D>6LO 6 ?D>F5EE5 ?D>D5EE<>=4?L=>= 45OF5?L=>EF< < 
?>445D64=<O =5>5E>4<<>7> GD>6=O D<7<G5E>>= ?>47>F>6?5==>EF<. 

�� 09. �>?L7>64FLEO ?D>D5EE<>=4?L=>= 4>>G<5=F4F<5= =4 
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7>EG44DEF65==>< < <=>EFD4==OE O7O>4E. 
 

�5D5G5=L ?D>D5EE<>=4?L=OE >><?5F5=F<= (��), M?5<5=FO >>F>DOE 
D>D<<DGNFEO 6 D4<>4E 4<EF<??<=O:  

 �� 1.1. �O?>?=OFL >><??5>E D45>F ?> ?>47>F>6>5 > 5GD5=<N < ?> 
>>>=G4=<< 5GD5=<O =5DFO=OE < 747>6OE E>646<= 

�� 2.1. �O?>?=OFL >><??5>E ?>47>F>6<F5?L=OE D45>F ?5D54 
?D>6545=<5< >4?<F4?L=>7> D5<>=F4 =5DFO=OE < 747>6OE E>646<= 

�� 2.3. �O?>?=OFL >><??5>E D45>F ?> >4?<F4?L=><G D5<>=FG 
=5DFO=OE < 747>6OE E>646<= 

�� 3.1. �EGM5EF6?OFL >>=FD>?L D45>FO 47D574F>6, E<EF5<, <5E4=<7<>6 
5GD>6OE GEF4=>6>> M>E??G4F4F<>==>7> < 7?G5>>>7> D47654>G=>7> 5GD5=<O =4 
=5DFL < 747. 

�� 3.2. �D><76>4<FL F5E=<G5E>>5 >5E?G6<64=<5 47D574F>6, E<EF5<, 
<5E4=<7<>6 5GD>6OE GEF4=>6>> M>E??G4F4F<>==>7> < 7?G5>>>7> D47654>G=>7> 
5GD5=<O =4 =5DFL < 747. 

�� 3.5. �D>D<?OFL F5E=>?>7<G5E>GN < F5E=<G5E>GN 4>>G<5=F4F<N ?> 
>5E?G6<64=<N < M>E??G4F4F<< 5GD>6>7> >5>DG4>64=<O. 

�� 4.1 �EGM5EF6?OFL >>=FD>?L 557>?4E=>EF< 6545=<O 5GD>6OE D45>F 6 
E>>F65FEF6<< E ?D46<?4<< 557>?4E=>EF<. 
 

� D4<>4E ?D>7D4<<O GG55=>= 4<EF<??<=O >5GG4NM<<<EO >E64<64NFEO 
E?54GNM<5 G<5=<O < 7=4=<O. 

�>4  
��, �� 

'<5=<O �=4=<O 

�� 1.1,  

�� 2.1, 
�� 2.3, 
�� 3.1, 
�� 3.2 

�� 4.1   

�� 01 - 
�� 09 

  

 

3 ?>45<D4FL M?5>FD<G5E><5 ?D<5>DO 
< >5>DG4>64=<5 E >?D545?5==O<< 
?4D4<5FD4<< < E4D4>F5D<EF<>4<<, 
GEFD>=EF64 M?5>FD>==>= F5E=<><; 
3 ?D46<?L=> M>E??G4F<D>64FL 
M?5>FD>>5>DG4>64=<5 < <5E4=<7<O 
?5D544G< 46<65=<O 
F5E=>?>7<G5E><E <4L<= < 
4??4D4F>6; 
3 D4EEG<FO64FL ?4D4<5FDO 
M?5>FD<G5E><E < <47=<F=OE F5?5=, 
M?5>FD<G5E><E <4L<=; 
3 6OG<E?OFL E4D4>F5D<EF<>< 
?>EF>O==>7>, ?5D5<5==>7> < 
FD5ED47=>7> F>>4; 
3 E=<<4FL ?>>474=<O < ?>?L7>64FLEO 
M?5>FD><7<5D<F5?L=O<< ?D<5>D4<< 
< ?D<E?>E>5?5=<O<<; 
3 E>5<D4FL M?5>FD<G5E><5 EE5<O; 
3 G<F4FL ?D<=F<?<4?L=O5, 
M?5>FD<G5E><5 < <>=F46=O5 EE5<O;  
3 EFD><FL 65>F>D=O5 4<47D4<<O; 
3 >?D545?OFL E4D4>F5D<EF<>< 

3 <5F>4O D4EG5F4 < <7<5D5=<O >E=>6=OE 
?4D4<5FD>6 M?5>FD<G5E><E < <47=<F=OE 
F5?5=, M?5>FD<G5E><E 65?<G<=; 
3 E4D4>F5D<EF<>< M?5>FD<G5E><E < 
<47=<F=OE ?>?5=; 
3 >E=>6=O5 74>>=O M?5>FD>F5E=<><; 
3 ?D46<?4 M>E??G4F4F<< 
M?5>FD>>5>DG4>64=<O; 
3 >E=>6O F5>D<< M?5>FD<G5E><E <4L<=, 
?D<=F<? D45>FO F<?>6OE M?5>FD<G5E><E 
GEFD>=EF6; 
3 >E=>6O D<7<G5E><E ?D>F5EE>6 6 
?D>6>4=<>4E, ?>?G?D>6>4=<>4E < 
4<M?5>FD<>4E; 
3 ?4D4<5FDO M?5>FD<G5E><E EE5< < 
54<=<FO <E <7<5D5=<O; 
3 ?D<=F<? 6O5>D4 M?5>FD<G5E><E < 
M?5>FD>==OE GEFD>=EF6 < ?D<5>D>6; 
3 ?D<=F<?O 45=EF6<O, GEFD>=EF6>, 
>E=>6=O5 E4D4>F5D<EF<>< 
M?5>FD>F5E=<G5E><E < M?5>FD>==OE 
GEFD>=EF6 < ?D<5>D>6; 
3 E6>=EF64 ?D>6>4=<>>6, 
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M?5>FD>==OE ?D<5>D>6. 
 

?>?G?D>6>4=<>>6, M?5>FD><7>?OF<>==OE, 
<47=<F=OE <4F5D<4?>6; 
3 E?>E>5O ?>?GG5=<O, ?5D544G< < 
<E?>?L7>64=<O M?5>FD<G5E>>= M=5D7<<; 
3 >?4EE<D<>4F<N M?5>FD>==OE ?D<5>D>6, 
<E GEFD>=EF6> < >5?4EFL ?D<<5=5=<O. 

 

2. %&$'�&'$� � %���$����� ''����� ��%&�����/ 

2.1. �5N5< GG55=>= 4<EF<??<=O < 6<4O GG55=>= D45>FO 
 

�<4 GG55=>= D45>FO �5N5< G4E>6 

�5N5< >5D47>64F5?L=>= ?D>7D4<<O GG55=>= 4<EF<??<=O 96 

�5O74F5?L=4O 4G4<F>D=4O GG55=4O =47DG7>4 (6E57>) 96 

6 F. G. 6 D>D<5 ?D4>F<G5E>>= ?>47>F>6>< 48 

6 F>< G<E?5, 

F5>D5F<G5E>>5 >5GG5=<5 48 

?D4>F<G5E><5 74=OF<O 48 

 E4<>EF>OF5?L=4O D45>F4   

�D><56GF>G=4O 4FF5EF4F<O 6 D>D<5 M>74<5=4 12 
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2.2.  &5<4F<G5E><= ??4= < E>45D64=<5 GG55=>= 4<EF<??<=O   -���&$�&�%���� � -���&$�����  

�4<<5=>64=<
5 D4745?>6 < 

F5< 

%>45D64=<5 GG55=>7> <4F5D<4?4 < D>D<O >D74=<74F<< 
45OF5?L=>EF< >5GG4NM<EEO 

�5N5<, 4>44. G. / 6 F>< 
G<E?5 6 D>D<5 
?D4>F<G5E>>= 

?>47>F>6><, 4>44.G. 

�>4O >><?5F5=F<=, 
D>D<<D>64=<N 

>>F>DOE E?>E>5EF6G5F 
M?5<5=F ?D>7D4<<O 

1 2 3  

$4745? 1. -?5>FD>F5E=<>4 62/32 �� 01- �� 09 

�� 1.1  
�� 2.1   
�� 2.3  
�� 3.1  
��3.2 

�� 3.5  
�� 4.1  

  

 

�6545=<5 
-?5>FD<G5E>4O M=5D7<O, 55 E6>=EF64 < ?D<<5=5=<5. 
�E=>6=O5 MF4?O D476<F<O >F5G5EF65==>= M=5D75F<><. 2 

&5<4 1.1. 
-?5>FD<G5E>>5 

?>?5 

 

 

�E=>6=O5 E6>=EF64 < E4D4>F5D<EF<>< M?5>FD<G5E>>7> ?>?O. 
-?5>FD<G5E>4O 5<>>EFL. �>=45=E4F>DO 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 

�O?>?=OFL D4EG5FO E4D4>F5D<EF<> < ?4D4<5FD>6 
M?5>FD<G5E>>7> ?>?O. 
�>>?44: «-?5>FD><7>?OF<>==O5 <4F5D<4?O¬, «�D<<5=5=<5 
>>=45=E4F>D>6¬. 

 

&5<4 1.2. 
-?5>FD<G5E>4O 

F5?L 
?>EF>O==>7> 

F>>4 

 

 

-?5>FD<G5E><5 F5?<, <E ?4D4<5FDO < E4D4>F5D<EF<><. 
�5F>4O D4EG5F4 M?5>FD<G5E><E F5?5=. �4>>=O �<4 < ?D46<?4 
�<DE7>D4. 
-?5<5=FO M?5>FD<G5E>>= F5?<. �>=OF<5 ?D<5<=<>>6 < 
<EF>G=<>>6. 

4 

�45>D4F>D=O5 74=OF<O 

�?OF=4O ?D>65D>4 E6>=EF6 ?>E?54>64F5?L=>7>, ?4D4??5?L=>7> < 
E<5L4==>7> E>54<=5=<O D57<EF>D>6. 

2 

�D4>F<G5E>4O ?>47>F>6>4 >5GG4NM<EEO$4EG5F ?4D4<5FD>6 F5?< 
?>EF>O==>7> F>>4. �5F>4 �<DE7>D4.  

2 

 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 

�O?>?=OFL D4EG5F ?4D4<5FD>6 F5?< ?>EF>O==>7> F>>4. 
�>>?44: «�?LF5D=4F<6=O5 <EF>G=<>< M=5D7<<¬. 

 

&5<4 1.3. 
-?5>FD><47=5F

<7< 

�E=>6=O5 E6>=EF64 < E4D4>F5D<EF<>< <47=<F=>7> ?>?O. 
�4>>= �<?5D4 < M?5>FD><47=<F=>= <=4G>F<<. 
�=4G>F<6=>EFL < 55 D4EG5F. 

2 

 

�45>D4F>D=O5 74=OF<O 

�>EFD>5=<5 ?5F?< <47=<F=>7> 7<EF5D57<E4. 2 
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%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 

�O?>?=OFL D4EG5F ?4D4<5FD>6 <47=<F=>7> ?>?O < F5?<. 
�>>?44: «�D<<5=5=<5 O6?5=<= M?5>FD><47=<F=>= <=4G>F<<, 
674<<=>= <=4G>F<<, E4<><=4G>F<<¬, «�D<<5=5=<5 
M?5>FD><47=<F>6¬. 

 

&5<4 1.4. 
-?5>FD<G5E><5 

F5?< 
?5D5<5==>7> 

F>>4 

%4D4>F5D<EF<>< F5?5= ?5D5<5==>7> F>>4. 
-?5>FD<G5E><5 F5?< E 4>F<6=O< < D54>F<6=O< 
E>?D>F<6?5=<5<. 
/6?5=<5 D57>=4=E4. 

4 

�45>D4F>D=O5 74=OF<O 

�EE?54>64=<5 M?5>FD<G5E><E F5?5= ?5D5<5==>7> F>>4. 
2 

 

�D4>F<G5E>4O ?>47>F>6>4 >5GG4NM<EEO 

$4EG5F E4D4>F5D<EF<> F5?< ?5D5<5==>7> F>>4. $4EG5F 
?4D4<5FD>6 =5D4765F6?5==>= < D4765F6?5==>= F5?<. �>EFD>5=<5 
65>F>D=OE 4<47D4<< =4?DO65=<O, E>?D>F<6?5=<O, <>M=>EF<. 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 

�O?>?=OFL D4EG5FO ?4D4<5FD>6 F5?5= ?5D5<5==>7> F>>4; 
EFD><FL 65>F>D=O5 4<47D4<<O. 

 

&5<4 1.5. 
-?5>FD<G5E><5 

<7<5D5=<O 

�E=>6=O5 ?>=OF<O > <7<5D5=<OE. �>7D5L=>EF< <7<5D5=<= < <E 
D4EG5F. 
�7<5D5=<5 >E=>6=OE M?5>FD<G5E><E 65?<G<=. 
�7<5D5=<5 =5M?5>FD<G5E><E 65?<G<=. 

2 

�45>D4F>D=O5 74=OF<O 

�D>65D>4 F5E=<G5E>>7> 4<?5D<5FD4. 2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 

�O?>?=OFL D4EG5F ?>7D5L=>EF< M?5>FD><7<5D<F5?L=OE 
?D<5>D>6.  

 

&5<4 1.6. 
&D5ED47=O5 

M?5>FD<G5E><5 
F5?< 

�D<=F<? D45>FO FD5ED47=>7> 75=5D4F>D4 ?5D5<5==>7> F>>4. 
%<<<5FD<G=O5 < =5E<<<5FD<G=O5 FD5ED47=O5 F5?<. 
%>54<=5=<5 >5<>F>> FD5ED47=>7> 75=5D4F>D4 76574>= < 
FD5G7>?L=<>><. 

4 

�45>D4F>D=O5 74=OF<O 

�EE?54>64=<5 FD5ED47=>= E<EF5<O ?D< E>54<=5=<< 76574>=. 
�EE?54>64=<5 FD5ED47=>= E<EF5<O ?D< E>54<=5=<< 

2 
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FD5G7>?L=<>><. 
�D4>F<G5E>4O ?>47>F>6>4 >5GG4NM<EEO 

$4EG5F D47=OE < ?<=5==OE =4?DO65=<=, D47=OE < ?<=5==OE 
F>>>6 ?D< D47?<G=OE E>54<=5=<OE =47DG7><, <>M=>EF< >4=>= 
D47O < FD5ED47=>= F5?< 6 F5?><, >>MDD<F<5=F4 <>M=>EF<. 
%FD><FL 65>F>D=O5 4<47D4<<O =4?DO65=<= < F>>>6.  

2 

 

 

 

 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 

�O?>?=OFL D4EG5F ?4D4<5FD>6 FD5ED47=>= F5?<.  

&5<4 1.7. 
&D4=ED>D<4F>

DO 

'EFD>=EF6> < ?D<=F<? D45>FO FD4=ED>D<4F>D>6. 2 

�45>D4F>D=O5 74=OF<O 

�?D545?5=<5 ?4D4<5FD>6 < ��� >4=>D47=>7> FD4=ED>D<4F>D4. 2 

�D4>F<G5E>4O ?>47>F>6>4 >5GG4NM<EEO 

$4EG5F ?4D4<5FD>6 FD4=ED>D<4F>D4 
2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 

�O?>?=OFL D4EG5F ?>F5DL <>M=>EF< < ��� FD4=ED>D<4F>D4, 
>>MDD<F<5=F4 FD4=ED>D<4F<< FD4=ED>D<4F>D4 < 4DG7<5 
?4D4<5FDO FD4=ED>D<4F>D4. 
�>>?44: «�D<<5=5=<5 FD4=ED>D<4F>D>6¬, «�<4O 
FD4=ED>D<4F>D>6¬. 

 

&5<4 1.8. 
-?5>FD<G5E><5 

<4L<=O 
?5D5<5==>7> 

F>>4 

�47=4G5=<5 <4L<= ?5D5<5==>7> F>>4 < <E >?4EE<D<>4F<O. 
'EFD>=EF6> < ?D<=F<? D45>FO 4E<=ED>==>7> 46<74F5?O. 2 

�45>D4F>D=O5 74=OF<O. 

�E?OF4=<5 FD5ED47=>7> 4E<=ED>==>7> 46<74F5?O. 

2 

 

 

�D4>F<G5E>4O ?>47>F>6>4 >5GG4NM<EEO 

$4EG5F ?4D4<5FD>6 46<74F5?O ?5D5<5==>7> F>>4. 2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 

�O?>?=OFL D4EG5F G4EF>FO 6D4M5=<O D>F>D4, E>>?L65=<O. 
�?D545?OFL ?>FD55?O5<GN <>M=>EFL 46<74F5?O < 4DG7<5 57> 
E4D4>F5D<EF<>< < ?4D4<5FDO. 

 

&5<4 1.9. 
 

-?5>FD<G5E><5 
<4L<=O 

�47=4G5=<5 < >?4EE<D<>4F<O <4L<= ?>EF>O==>7> F>>4. 
'EFD>=EF6> < ?D<=F<? D45>FO 46<74F5?5= < 75=5D4F>D>6 
?>EF>O==>7> F>>4. 
�E=>6=O5 ?4D4<5FDO <4L<= ?>EF>O==>7> F>>4. 

2 
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?>EF>O==>7> 
F>>4 

�45>D4F>D=O5 74=OF<O 

�EE?54>64=<5 E4D4>F5D<EF<> 75=5D4F>D4 ?>EF>O==>7> F>>4. 2 

�D4>F<G5E>4O ?>47>F>6>4 >5GG4NM<EEO 

$4EG5F ?4D4<5FD>6 46<74F5?O ?>EF>O==>7> F>>4. 2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 

�?D545?OFL F<?O < ?4D4<5FDO <4L<= ?>EF>O==>7> F>>4,EFD><FL 
D45>G<5 E4D4>F5D<EF<>< 75=5D4F>D>6 < 46<74F5?5= ?>EF>O==>7> 
F>>4.  
�>>?44: «�D<<5=5=<5 M?5>FD<G5E><E <4L<= ?>EF>O==>7> F>>4 
6 D47?<G=OE >5?4EFOE =4D>4=>7> E>7O=EF64¬. 

 

 

 

 

 

&5<4 1.10. 
�E=>6O 

M?5>FD>?D<6>4
4 

�>=OF<5 >5 M?5>FD>?D<6>45, 57> >?4EE<D<>4F<O < EFDG>FGD4. 
�??4D4FGD4 G?D46?5=<O < 74M<FO. 2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 

�O?>?=OFL D4EG5F ?4D4<5FD>6 M?5>FD>?D<6>44.  

&5<4 1.11. 
�5D544G4 < 

D4E?D545?5=<5 
M?5>FD<G5E>>= 

M=5D7<< 

-?5>FD>E=4565=<5 ?D><OL?5==OE ?D54?D<OF<=. 
-?5>FD<G5E><5 E5F< ?D><OL?5==OE ?D54?D<OF<=. 2 

�45>D4F>D=O5 74=OF<O 

�D>65D>4 EG5FG<>4 M?5>FD<G5E>>= M=5D7<<. 2 

�D4>F<G5E>4O ?>47>F>6>4 >5GG4NM<EEO 

�?D545?OFL >>=EFDG>F<N < >5?4EFL ?D<<5=5=<O ?D>6>4>6 < 
>455?5= ?> <E <4D>4<. 
�O5<D4FL E5G5=<O ?D>6>4>6 < >455?5= ?> 4>?GE>45<>= F>>>6>= 
=47DG7>5 < ?>F5D5 =4?DO65=<O. 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 

�>>?44 «-?5>FD>E=4565=<5 ?D><OL?5==OE ?D54?D<OF<=¬, 
«�5=EF6<5 M?5>FD<G5E>>7> F>>4 =4 >D74=<7< G5?>65>4¬, 
«�4M<F=>5 7475<?5=<5 < 74=G?5=<5¬. 

 

$4745? 2. -?5>FD>=<>4 34/16  

&5<4 2.1. 
$<7<G5E><5 

>E=>6O 
M?5>FD>=<><. 
-?5>FD>==O5 

?D<5>DO 

-?5>FD>?D>6>4<<>EFL ?>?G?D>6>4=<>>6.  
�>?G?D>6>4=<>>6O5 4<>4O < FD4=7<EF>DO. 
&<D<EF>DO. 

4 

 �� 01- �� 09 

�� 1.1  
�� 2.1   
�� 2.3  
�� 3.1  
��3.2 

�45>D4F>D=O5 74=OF<O 

�7<5D5=<5 ?4D4<5FD>6 < E=OF<5 6>?LF4<?5D=>= E4D4>F5D<EF<>< 
?>?G?D>6>4=<>>6>7> 4<>44. 

2 
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�D4>F<G5E>4O ?>47>F>6>4 >5GG4NM<EEO 

�O?>?=OFL D4EG5F ?4D4<5FD>6 ?>?G?D>6>4=<>>6OE ?D<5>D>6 ?> 
<E E4D4>F5D<EF<>4<. 

2 

�� 3.5  
�� 4.1  

  

 

  

 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 

�>?L7>64FLEO E?D46>G=>= ?<F5D4FGD>= ?> ?>?G?D>6>4=<>>6O< 
?D<5>D4<. 
�>>?44 «�5?4EF< ?D<<5=5=<O ?>?G?D>6>4=<>>6OE ?D<5>D>6¬. 

 

&5<4 2.2. 
-?5>FD>==O5 

6O?DO<<F5?< < 
EF45<?<74F>DO

. 

�E=>6=O5 E6545=<O, EFDG>FGD4 < ?D<=F<? D45>FO M?5>FD>==OE 
6O?DO<<F5?5=. 
�E=>6=O5 E6545=<O, ?D<<5=5=<5 < =47=4G5=<5 M?5>FD>==OE 
EF45<?<74F>D>6. 

4 

�45>D4F>D=O5 74=OF<O 

�EE?54>64=<5 6O?DO<<F5?O. 2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 

�O?>?=OFL D4EG5F ?4D4<5FD>6 M?5>FD>==OE 6O?DO<<F5?5=.  

&5<4 2.3. 
-?5>FD>==O5 

GE<?<F5?<. 

%E5<O GE<?<F5?5= M?5>FD<G5E><E E<7=4?>6. 
'EFD>=EF6> < ?D<=F<? D45>FO M?5>FD>==OE GE<?<F5?5= 

2 

�45>D4F>D=O5 74=OF<O 

�EE?54>64=<5 E4D4>F5D<EF<> GE<?<F5?O. 2 

�D4>F<G5E>4O ?>47>F>6>4 >5GG4NM<EEO 

$4EG5F F5E=<G5E><E E4D4>F5D<EF<> GE<?<F5?O. 2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 

�O?>?=OFL D4EG5F >>MDD<F<5=F4 GE<?5=<O GE<?<F5?O. 
�OD464FL >>MDD<F<5=FO GE<?5=<O GE<?<F5?O ?> F>>G, ?> 
=4?DO65=<N, ?> <>M=>EF< 6 ?>74D<D<<G5E><E 54<=<F4E - 

45F<55?4E (4�). 

 

&5<4 2.4. 
-?5>FD>==O5 
75=5D4F>DO < 
<7<5D<F5?L=O

5 ?D<5>DO 

�5=5D4F>DO >>?554=<= < <<?G?LE>6. 
-?5>FD>==O= >EF<??>7D4D. 2 

�45>D4F>D=O5 74=OF<O 

�EE?54>64=<5 M?5>FD>==OE 75=5D4F>D>6. 2 

�D4>F<G5E>4O ?>47>F>6>4 >5GG4NM<EEO 

$4EG5F ?4D4<5FD>6 M?5>FD>==OE 75=5D4F>D>6. 2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 

�> >EF<??>7D4<<4< =4?DO65=<= < F>>>6 >?D545?OFL ?4D4<5FDO  
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M?5>FD<G5E><E E<7=4?>6.  
�> ?4D4<5FD4< EE5<O M?5>FD>==>7> 75=5D4F>D4 >?D545?OFL 57> 
D45>GGN G4EF>FG < ?5D<>4 >>?554=<=. 

&5<4 2.5. 
-?5>FD>==O5 

GEFD>=EF64 
46F><4F<>< < 
6OG<E?<F5?L=

>= F5E=<>< 

%FDG>FGD4 E<EF5<O 46F><4F<G5E>>7> >>=FD>?O G?D46?5=<O < 
D57G?<D>64=<O. 
�7<5D<F5?L=O5 ?D5>5D47>64F5?<. 
%FDG>FGD4 < ?D<=F<? D45>FO M?5>FD><47=<F=>7> D5?5. 

4 

�45>D4F>D=O5 74=OF<O 

�E?OF4=<5 M?5>FD><47=<F=>7> D5?5. 2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 

�O?>?=OFL D4EG5F ?4D4<5FD>6 ED454FO64=<O < 6>76D4F4 
M?5>FD><47=<F=>7> D5?5.  
�>>?44: «�D<<5=5=<5 EFDG>FGD4 E<EF5<O 46F><4F<G5E>>7> 
>>=FD>?O, G?D46?5=<O < D57G?<D>64=<O¬, «�D<<5=5=<5 D5?5¬. 

 

&5<4 2.6. 
�<>D>?D>F5EE

>DO  

�>=OF<5 > <<>D>?D>F5EE>D4E < <<>D>-��. 
�D<D<5F<G5E>>5 < ?>7<G5E>>5 >55E?5G5=<5 <<>D>?D>F5EE>D>6. 
�=F57D4?L=O5 <<>D>EE5<O. 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 

�>>?44: «�=F57D4?L=O5 <<>D>EE5<O¬, «�<>D>?D>F5EE>DO < <E 
6<4O¬. 

 

�E57>: 96  

�D><56GF>G=4O 4FF5EF4F<O (M>74<5=) 12  



 13 

3. '%����/ $������&�� ''����� ��%&�����/ 

 

3.1. &D55>64=<O > <<=<<4?L=><G <4F5D<4?L=>-F5E=<G5E>><G 
>55E?5G5=<N 

$54?<74F<O GG55=>= 4<EF<??<=O FD55G5F =4?<G<O GG55=>= >45<=5F4 
M?5>FD>F5E=<>< < M?5>FD>=<><. 

�5>DG4>64=<5 ?45>D4F>D<< < D45>G<E <5EF ?45>D4F>D<<: 

- ?>E44>G=O5 <5EF4 ?> >>?<G5EF6G >5GG4NM<EEO; 
- D45>G55 <5EF> ?D5?>4464F5?O; 
- �><??5>F ??4>4F>6, D4744F>G=O= <4F5D<4? 4?O ?D>6545=<O ?45>D4F>D=OE 

D45>F. 
&5E=<G5E><5 ED54EF64 >5GG5=<O:  
'G55=>-?45>D4F>D=O= >5=E «-?5>FD>F5E=<>4 < >E=>6O M?5>FD>=<><¬ ('��-

-�-) 
�D<5>DO: 
 ?>F5=F<><5FD $4833, 64FF<5FD � 5065, 6>?LF<5FD, <EF>G=<> ?<F4=<O �-��-

2, <4747<= E>?D>F<6?5=<= $33, <<??<4<?5D<5FD, D5>EF4F $�,, D5>EF4F $�, 
1000 �<, D5>EF4F $�, 200 �<, D5>EF4F $%�%, 4<?5D<5FD �- 367, 4<?5D<5FD 
45<>=EFD4F<>==O=, 4<?5D<5FD - -379, 64FF<5FD � -539, 6>?LF<5FD --30, 

6>?LF<5FD 45<>=EFD4F<>==O=, 6>?LF<5FD �� -7-9, 6>?LF<5FD - -421, 

75=5D4F>D ?>EF>O==>7> F>>4, >DG7?>7G5FO, FD4=ED>D<4F>D =4?DO65=<O ��� 
-10, FD4=ED>D<4F>D '&�, FD4=ED>D<4F>D � -54, FD4=7<EF>DO, <57><<5FD - 

4102/2-1, 4<?5D<5FD �-381, 6>?LF<5FD �-365, <4L<=4 ?>EF>O==>7> F>>4, 
FD4=ED>D<4F>D 220. 

 

3.2. �=D>D<4F<>==>5 >55E?5G5=<5 >5GG5=<O 

�5D5G5=L GG55=OE <744=<=, �=F5D=5F-D5EGDE>6, 4>?>?=<F5?L=>= 
?<F5D4FGDO 

 

4) >E=>6=4O ?<F5D4FGD4: 
7 
?/? 

�EF>G=<> 

1. �G7>6><=, �. �.  -?5>FD>F5E=<>4 < M?5>FD>=<>4 : GG55=<> 4?O ED54=57> 
?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �G7>6><=, �. �. $<?4F>6. 4 �>E>64 : 
�744F5?LEF6> .D4=F, 2025. 4 416 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 

ISBN 978-5-534-20474-2. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O 
??4FD>D<4 .D4=F [E4=F]. 4 URL: https://www.urait.ru/bcode/561194 (44F4 
>5D4M5=<O: 21.02.2025).  

2. �>F4?>6, �. �.  &5>D5F<G5E><5 >E=>6O M?5>FD>F5E=<><. %5>D=<> 7444G : 
GG55=>5 ?>E>5<5 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. 
�>F4?>6. 4 2-5 <74., <E?D. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2023. 4 

245 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-09581-4. 4 

&5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: 

https://urait.ru/bcode/517333 (44F4 >5D4M5=<O: 27.01.2025).    
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3. �4=<?>6, �. �.  -?5>FD>F5E=<>4 : GG55=<> 4?O ED54=57> ?D>D5EE<>=4?L=>7> 
>5D47>64=<O / �. �. �4=<?>6. 4 2-5 <74., <E?D. < 4>?. 4 �>E>64 : 
�744F5?LEF6> .D4=F, 2025. 4 412 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 

ISBN 978-5-534-21154-2. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O 
??4FD>D<4 .D4=F [E4=F]. 4 URL: https://www.urait.ru/bcode/559468 (44F4 
>5D4M5=<O: 27.01.2025).  

4. �64=>6, �. �. -?5>FD>F5E=<>4 < >E=>6O M?5>FD>=<>< : GG55=<> 4?O E?> / �. �. 
�64=>6, �. �. %>?>6L56, �. /. $D>?>6. 4 5-5 <74., EF5D. 4 %4=>F-�5F5D5GD7 : 
�4=L, 2025. 4 736 E. 4 ISBN 978-5-507-52365-8. 4 &5>EF : M?5>FD>==O= // 
�4=L : M?5>FD>==>-5<5?<>F5G=4O E<EF5<4. 4 URL: 

https://e.lanbook.com/book/448721 (44F4 >5D4M5=<O: 27.01.2025).  
5. �>=44DL, �. �. -?5>FD>F5E=<>4 < >E=>6O M?5>FD>=<>< 6 ?D<<5D4E < 7444G4E : 

GG55=>5 ?>E>5<5 4?O E?> / �. �. �>=44DL. 4 2-5 <74., EF5D. 4 %4=>F-

�5F5D5GD7 : �4=L, 2024. 4 388 E. 4 ISBN 978-5-507-47554-4. 4 &5>EF : 
M?5>FD>==O= // �4=L : M?5>FD>==>-5<5?<>F5G=4O E<EF5<4. 4 URL: 

https://e.lanbook.com/book/388973 (44F4 >5D4M5=<O: 27.01.2025) 
 

5) 4>?>?=<F5?L=4O ?<F5D4FGD4: 
7 
?/? 

�EF>G=<> 

1.  �<?5=<=4, %. �.  -?5>FD>=<>4 < EE5<>F5E=<>4 : GG55=<> < ?D4>F<>G< 4?O 
ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / %. �. �<?5=<=4 ; ?>4 D544>F<5= 
�. �. �<?5=<=4. 4 2-5 <74., ?5D5D45. < 4>?. 4 �>E>64 : �744F5?LEF6> 
.D4=F, 2025. 4 277 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-

534-19818-8. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F 
[E4=F]. 4 URL: https://www.urait.ru/bcode/562790 (44F4 >5D4M5=<O: 
27.01.2025). 

2. �?<56, �. �.  -?5>FD>F5E=<>4 < M?5>FD>>5>DG4>64=<5: 547>6O5 >E=>6O : 
GG55=<> 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �?<56. 4 5-5 
<74., <E?D. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2025. 4 291 E. 4 

(�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-04256-6. 4 &5>EF : 
M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: 

https://www.urait.ru/bcode/563311 (44F4 >5D4M5=<O: 21.02.2025).  
 

6) ?5D<>4<G5E><5 <744=<O: 
7 
?/? 

�EF>G=<> 

1. 

 

�EF5EF65==O5 < F5E=<G5E><5 =4G><: =4GG. 6GD=4?  /7?. D54. �./.%46><=. 3 

�>E>64 :  ��� "�744F5?LEF6> "%?GF=<>+", 20024 .4 �OE>4<F 12 D47 6 7>4. 
ISBN ?5G4F=>= 65DE<< 1684 3 2626. 3 &5>EF : =5?>ED54EF65==O=. 

 

7) <=D>D<4F<>==O5 M?5>FD>==>->5D47>64F5?L=O5 D5EGDEO: 
7 
?/? 

�EF>G=<> 

1. -?5>FD>==4O 5<5?<>F5G=4O E<EF5<4 «�<5?<>&5E. �744F5?LEF6> ��'¬    
mgri-rggru.bibliotech.ru 

2. -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «�744F5?LEF6> �4=L¬/ >>??. �=65=5D=>-

F5E=<G5E><5 =4G>< (&N<�')  e.lanbook.com   

3. -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 elibrary¬ / �D46>>5?444F5?L: �5M5EF6> E  
>7D4=<G5==>= >F65FEF65==>EFLN «$'�-�¬ (RU)  elibrary.ru 

https://clck.yandex.ru/redir/nWO_r1F33ck?data=NnBZTWRhdFZKOHRaTENSMFc4S0VQRXZLSW9LeEFnQlk2XzM1SFpXdVVJd1BzQnJRb1czcGl4eW5YVXp4MVpRSVVQVmh4VTlZVG1idUNsS0dUTlhtdUQzZ0VfR0RXR24yck5jMFJrUVdHcHNBYWRPVjVUU285dw&b64e=2&sign=d41143eaa87864d2f866cddf54951de4&keyno=17
http://www.e.lanbook.com/
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4. -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «-�% .$��&¬  urait.ru.  
5. �=D>D<4F<>==>-?D46>6>5 >55E?5G5=<5 «�4D4=F¬ (?>>4?L=4O <=D>D<4F<>==>-

?D46>64O E<EF5<4) garant.ru 

 

 

4. ���&$��, � �&���� $��'�,&�&�� �%�����/ ''����� 
��%&�����/ 

�>=FD>?L < >F5=>4 D57G?LF4F>6 >E6>5=<O GG55=>= 4<EF<??<=O 
>EGM5EF6?O5FEO ?D5?>4464F5?5< 6 ?D>F5EE5 ?D>6545=<O ?D4>F<G5E><E 
74=OF<=, F5EF<D>64=<O, D5L5=<O E<FG4F<>==OE 7444G, 4 F4>65 6O?>?=5=<O 
>5GG4NM<<<EO <=4<6<4G4?L=OE 7444=<=, ?D>5>F>6, <EE?54>64=<=. 
 

$57G?LF4FO >5GG5=<O �D<F5D<< >F5=>< $>D<O < <5F>4O 
>>=FD>?O < 

>F5=>< 

�=4=<O 

3 <5F>4O D4EG5F4 < <7<5D5=<O 
>E=>6=OE ?4D4<5FD>6 
M?5>FD<G5E><E < <47=<F=OE 
F5?5=, M?5>FD<G5E><E 
65?<G<=; 
3 E4D4>F5D<EF<>< 
M?5>FD<G5E><E < <47=<F=OE 
?>?5=; 
3 >E=>6=O5 74>>=O 
M?5>FD>F5E=<><; 
3 ?D46<?4 M>E??G4F4F<< 
M?5>FD>>5>DG4>64=<O; 
3 >E=>6O F5>D<< 
M?5>FD<G5E><E <4L<=, 
?D<=F<? D45>FO F<?>6OE 
M?5>FD<G5E><E GEFD>=EF6; 
3 >E=>6O D<7<G5E><E 
?D>F5EE>6 6 ?D>6>4=<>4E, 
?>?G?D>6>4=<>4E < 
4<M?5>FD<>4E; 
3 ?4D4<5FDO M?5>FD<G5E><E 
EE5< < 54<=<FO <E <7<5D5=<O; 
3 ?D<=F<? 6O5>D4 
M?5>FD<G5E><E < M?5>FD>==OE 
GEFD>=EF6 < ?D<5>D>6; 
3 ?D<=F<?O 45=EF6<O, 
GEFD>=EF6>, >E=>6=O5 
E4D4>F5D<EF<>< 
M?5>FD>F5E=<G5E><E < 
M?5>FD>==OE GEFD>=EF6 < 
?D<5>D>6; 
3 E6>=EF64 ?D>6>4=<>>6, 
?>?G?D>6>4=<>>6, 
M?5>FD><7>?OF<>==OE, 
<47=<F=OE <4F5D<4?>6; 

36?4455F <5F>44<< D4EG5F4 < 

<7<5D5=<O >E=>6=OE ?4D4<5FD>6 
M?5>FD<G5E><E < <47=<F=OE 
F5?5=, M?5>FD<G5E><E 65?<G<=; 

3?D>O6?O5F 7=4=<5 
E4D4>F5D<EF<> M?5>FD<G5E><E < 
<47=<F=OE ?>?5=; 
345<>=EFD<DG5F 7=4=<O 
>E=>6=OE 74>>=>6 
M?5>FD>F5E=<><; 
3?>>47O645F 7=4=<O ?D46<? 
M>E??G4F4F<< 
M?5>FD>>5>DG4>64=<O; 
3<<55F ?D54EF46?5=<5 >5>E=>64E 
F5>D<< M?5>FD<G5E><E <4L<=, > 
?D<=F<?5 D45>FO F<?>6OE 
M?5>FD<G5E><E GEFD>=EF6; 
3<<55F ?D54EF46?5=<5 >5>E=>64E 
D<7<G5E><E ?D>F5EE>6 6 
?D>6>4=<>4E, ?>?G?D>6>4=<>4E 
< 4<M?5>FD<>4E; 
3?D>O6?O5F 7=4=<5?4D4<5FD>6 
M?5>FD<G5E><E EE5< < 54<=<F <E 
<7<5D5=<O; 
3 45<>=EFD<DG5F 7=4=<5 > 
?D<=F<?5 6O5>D4 M?5>FD<G5E><E 
< M?5>FD>==OE GEFD>=EF6 < 
?D<5>D>6; 
3?D>O6?O5F 7=4=<5 > ?D<=F<?5 
45=EF6<O, GEFD>=EF65, >E=>6=OE 
E4D4>F5D<EF<>4E 
M?5>FD>F5E=<G5E><E < 
M?5>FD>==OE GEFD>=EF6 < 
?D<5>D>6; 
3<<55F ?D54EF46?5=<5 > 

&5>GM<= 
>>=FD>?L  
6 D>D<5:  
-  GEF=>7> >?D>E4;  
- F5EF<D>64=<O. 

 

�D><56GF>G=4O 
4FF5EF4F<O 6 
D>D<5:  
- M>74<5=4 (>F5=>4 
D57G?LF4F>6 
>F65F4 =4 

M>74<5=4F<>==O5 
6>?D>EO)  
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3 E?>E>5O ?>?GG5=<O, 
?5D544G< < <E?>?L7>64=<O 
M?5>FD<G5E>>= M=5D7<<; 
3 >?4EE<D<>4F<N 
M?5>FD>==OE ?D<5>D>6, <E 
GEFD>=EF6> < >5?4EFL 
?D<<5=5=<O. 
�=4FL: 
3 <5F>4O D4EG5F4 < <7<5D5=<O 
>E=>6=OE ?4D4<5FD>6 
M?5>FD<G5E><E < <47=<F=OE 
F5?5=, M?5>FD<G5E><E 
65?<G<=; 
3 E4D4>F5D<EF<>< 
M?5>FD<G5E><E < <47=<F=OE 
?>?5=; 
3 >E=>6=O5 74>>=O 
M?5>FD>F5E=<><; 
3 ?D46<?4 M>E??G4F4F<< 
M?5>FD>>5>DG4>64=<O; 
3 >E=>6O F5>D<< 
M?5>FD<G5E><E <4L<=, 
?D<=F<? D45>FO F<?>6OE 
M?5>FD<G5E><E GEFD>=EF6; 
3 >E=>6O D<7<G5E><E 
?D>F5EE>6 6 ?D>6>4=<>4E, 
?>?G?D>6>4=<>4E < 
4<M?5>FD<>4E; 
3 ?4D4<5FDO M?5>FD<G5E><E 
EE5< < 54<=<FO <E <7<5D5=<O; 
3 ?D<=F<? 6O5>D4 
M?5>FD<G5E><E < M?5>FD>==OE 
GEFD>=EF6 < ?D<5>D>6; 
3 ?D<=F<?O 45=EF6<O, 
GEFD>=EF6>, >E=>6=O5 
E4D4>F5D<EF<>< 
M?5>FD>F5E=<G5E><E < 
M?5>FD>==OE GEFD>=EF6 < 
?D<5>D>6; 
3 E6>=EF64 ?D>6>4=<>>6, 
?>?G?D>6>4=<>>6, 
M?5>FD><7>?OF<>==OE, 
<47=<F=OE <4F5D<4?>6; 
3 E?>E>5O ?>?GG5=<O, 
?5D544G< < <E?>?L7>64=<O 
M?5>FD<G5E>>= M=5D7<<; 
3 >?4EE<D<>4F<N 
M?5>FD>==OE ?D<5>D>6, <E 
GEFD>=EF6> < >5?4EFL 
?D<<5=5=<O. 

 

E6>=EF64E ?D>6>4=<>>6, 
?>?G?D>6>4=<>>6, 
M?5>FD><7>?OF<>==OE, 
<47=<F=OE <4F5D<4?>6; 
3<<55F ?D54EF46?5=<5 > 
E?>E>54E ?>?GG5=<O, ?5D544G< < 
<E?>?L7>64=<O M?5>FD<G5E>>= 
M=5D7<<; 
3 45<>=EFD<DG5F 7=4=<O > 
>?4EE<D<>4F<< M?5>FD>==OE 
?D<5>D>6, <E GEFD>=EF65 < 
>5?4EF<?D<<5=5=<O. 

36?4455F <5F>44<< D4EG5F4 
<<7<5D5=<O >E=>6=OE 
?4D4<5FD>6 M?5>FD<G5E><E < 
<47=<F=OE F5?5=, M?5>FD<G5E><E 
65?<G<=; 

3?D>O6?O5F 7=4=<5 
E4D4>F5D<EF<> M?5>FD<G5E><E < 
<47=<F=OE ?>?5=; 
345<>=EFD<DG5F 7=4=<O 
>E=>6=OE 74>>=>6 
M?5>FD>F5E=<><; 
3?>>47O645F 7=4=<O ?D46<? 
M>E??G4F4F<< 
M?5>FD>>5>DG4>64=<O; 
3<<55F ?D54EF46?5=<5 >5>E=>64E 
F5>D<< M?5>FD<G5E><E <4L<=, > 
?D<=F<?5 D45>FO F<?>6OE 
M?5>FD<G5E><E GEFD>=EF6; 
3<<55F ?D54EF46?5=<5 >5>E=>64E 
D<7<G5E><E ?D>F5EE>6 6 
?D>6>4=<>4E, ?>?G?D>6>4=<>4E 
< 4<M?5>FD<>4E; 
3?D>O6?O5F 7=4=<5?4D4<5FD>6 
M?5>FD<G5E><E EE5< < 54<=<F <E 
<7<5D5=<O; 
3 45<>=EFD<DG5F 7=4=<5 > 
?D<=F<?5 6O5>D4 M?5>FD<G5E><E 
< M?5>FD>==OE GEFD>=EF6 < 
?D<5>D>6; 
3?D>O6?O5F 7=4=<5 > ?D<=F<?5 
45=EF6<O, GEFD>=EF65, >E=>6=OE 
E4D4>F5D<EF<>4E 

M?5>FD>F5E=<G5E><E < 
M?5>FD>==OE GEFD>=EF6 < 
?D<5>D>6; 
3<<55F ?D54EF46?5=<5 > 
E6>=EF64E ?D>6>4=<>>6, 
?>?G?D>6>4=<>>6, 
M?5>FD><7>?OF<>==OE, 
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<47=<F=OE <4F5D<4?>6; 
3<<55F ?D54EF46?5=<5 > 
E?>E>54E ?>?GG5=<O, ?5D544G< < 
<E?>?L7>64=<O M?5>FD<G5E>>= 
M=5D7<<; 
3 45<>=EFD<DG5F 7=4=<O > 
>?4EE<D<>4F<< M?5>FD>==OE 
?D<5>D>6, <E GEFD>=EF65 < 
>5?4EF< ?D<<5=5=<O. 
 

'<5=<O 

3 ?>45<D4FL M?5>FD<G5E><5 
?D<5>DO < >5>DG4>64=<5 E 
>?D545?5==O<< ?4D4<5FD4<< < 
E4D4>F5D<EF<>4<<, GEFD>=EF64 
M?5>FD>==>= F5E=<><; 
3 ?D46<?L=> M>E??G4F<D>64FL 
M?5>FD>>5>DG4>64=<5 < 
<5E4=<7<O ?5D544G< 46<65=<O 
F5E=>?>7<G5E><E <4L<= < 
4??4D4F>6; 
3 D4EEG<FO64FL ?4D4<5FDO 
M?5>FD<G5E><E < <47=<F=OE 
F5?5=, M?5>FD<G5E><E <4L<=; 
3 6OG<E?OFL E4D4>F5D<EF<>< 
?>EF>O==>7>, ?5D5<5==>7> < 
FD5ED47=>7> F>>4; 
3 E=<<4FL ?>>474=<O < 
?>?L7>64FLEO 
M?5>FD><7<5D<F5?L=O<< 
?D<5>D4<< < 
?D<E?>E>5?5=<O<<; 
3 E>5<D4FL M?5>FD<G5E><5 
EE5<O; 
3 G<F4FL ?D<=F<?<4?L=O5, 
M?5>FD<G5E><5 < <>=F46=O5 
EE5<O;  
3 EFD><FL 65>F>D=O5 
4<47D4<<O; 
3 >?D545?OFL E4D4>F5D<EF<>< 
M?5>FD>==OE ?D<5>D>6. 

36?4455F G<5=<5< ?>45<D4FL 
M?5>FD<G5E><5 ?D<5>DO < 
>5>DG4>64=<5 E >?D545?5==O<< 
?4D4<5FD4<< < E4D4>F5D<EF<>4<<, 
GEFD>=EF64 M?5>FD>==>= F5E=<><; 
3?D>O6?O5F G<5=<5 ?D46<?L=> 
M>E??G4F<D>64FL 
M?5>FD>>5>DG4>64=<5 < 
<5E4=<7<O ?5D544G< 46<65=<O 
F5E=>?>7<G5E><E <4L<= < 
4??4D4F>6; 
345<>=EFD<DG5F G<5=<5 
D4EEG<FO64FL ?4D4<5FDO 
M?5>FD<G5E><E < <47=<F=OE F5?5=, 
M?5>FD<G5E><E <4L<=; 
3 ?>>47O645F G<5=<56OG<E?OFL 
E4D4>F5D<EF<>< ?>EF>O==>7>, 
?5D5<5==>7> < FD5ED47=>7> F>>4; 
36?4455F G<5=<5<E=<<4FL 
?>>474=<O < ?>?L7>64FLEO 
M?5>FD><7<5D<F5?L=O<< 
?D<5>D4<< < ?D<E?>E>5?5=<O<<; 
3?D>O6?O5F G<5=<5E>5<D4FL 
M?5>FD<G5E><5 EE5<O; 
345<>=EFD<DG5F G<5=<5G<F4FL 
?D<=F<?<4?L=O5, M?5>FD<G5E><5 < 
<>=F46=O5 EE5<O;  
3?D>O6?O5F G<5=<5 EFD><FL 
65>F>D=O5 4<47D4<<O; 
3?>>47O645F G<5=<5 >?D545?OFL 
E4D4>F5D<EF<>< M?5>FD>==OE 
?D<5>D>6. 

&5>GM<= 
>>=FD>?L  
6 D>D<5:  
- =45?N45=<O 74 
6O?>?=5=<5< 
7444=<= < >F5=>< 
=4 ?D4>F<G5E><E 
74=OF<OE. 

 

�D><56GF>G=4O 
4FF5EF4F<O 6 
D>D<5:  
- M>74<5=4 (>F5=>4 
D57G?LF4F>6 
D5L5=<O 
M>74<5=4F<>==OE 
7444G)  
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�D<F5D<< >F5=<64=<O D57G?LF4F>6 
?D4>F<G5E><E D45>F: 
�F5=>4 5 «>F?<G=>¬- EFG45=F 
7?G5>>>, >E<OE?5==>, 6 ?>?=>< 
>5N5<5 GE6><? ?D>7D4<<=O= 
<4F5D<4?, <7?4745F 57> =4 6OE>>>< 
=4GG=>< GD>6=5, <7GG<? 
>5O74F5?L=GN < 4>?>?=<F5?L=GN 
?<F5D4FGDG, G<5?> <E?>?L7G5F <E 
?D< >F65F4E; G<55F F6>DG5E>< 
?D<<5=OFL F5>D5F<G5E><5 7=4=<O; 
?>>47O645F E?>E>5=>EFL 
E4<>EF>OF5?L=> ?>?>?=OFL < 
>5=>6?OFL 7=4=<O 6 ?D>F5EE5 
44?L=5=L5= GG55O < 
?D>D5EE<>=4?L=>= 45OF5?L=>EF<. 
�F5=>4 4 «E>D>L>¬ - 6OEF46?O5FEO 
EFG45=FG, 5E?< >= ?>?=> 
D4E>DO645F E>45D64=<5 GG55=>7> 
<4F5D<4?4 6 >5N5<5, 
?D54GE<>FD5==>< ?D>7D4<<>=, 
<7GG<? >5O74F5?L=GN ?<F5D4FGDG 
?> >GDEG; 7=45F >?D545?5=<O < 
>4F57>D<< 4<EF<??<=O, G<55F 
G6O74FL F5>D<N < ?D4>F<>G, 
4>?GEF<? =57=4G<F5?L=O5 
=5F>G=>EF< ?D< <7?>65=<< 
<4F5D<4?4, =5 <E>464NM<5 
E>45D64=<5 >F65F4 ?> EGM5EF6G 
6>?D>E4. 
�F5=>4 3 «G4>6?5F6>D<F5?L=>¬ - 
6OEF46?O5FEO EFG45=FG, >>F>DO= 
6?4455F <4F5D<4?>< 6 ?D545?4E 
?D>7D4<<O >GDE4, 7=45F >E=>6=O5 
?>=OF<O < >4F57>D<< 4<EF<??<=O, 
>5?4445F 4>EF4F>G=O<< 7=4=<O<< 
4?O ?D>4>?65=<O >5GG5=<O < 
44?L=5=L5= ?D>D5EE<>=4?L=>= 
45OF5?L=>EF<. 
�F5=>4 2 «=5G4>6?5F6>D<F5?L=>¬ - 
6OEF46?O5FEO EFG45=FG, >>F>DO= 
<<55F ?D>55?O 6 7=4=<OE 
>E=>6=>7> GG55=>7> <4F5D<4?4, =5 
<>65F 44FL G5F>>7> >?D545?5=<O 
>E=>6=OE ?>=OF<= < >4F57>D<=; =5 
<>65F GE?5L=> ?D>4>?64FL 
44?L=5=L55 >5GG5=<5 6 E6O7< E 
=54>EF4F>G=O< >5N5<>< 7=4=<=. 

 


